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= 185,000 1,025,000 840,000
& 39,000 219,000 180,000
s 38,000 220,000 182,000
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= 908,000 418,000 490,000
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401 Al HI L2 HE| 1,299,000 597,000 702,000
=2 908,000 418,000 490,000
= 194,000 89,000 105,000
2 197,000 90,000 107,000
01 Al&Hl 1,299,000 597,000 702,000
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2 1,299,000,0002 1,299,000 597,000 702,000
=2 908,000 418,000 490,000
= 194,000 89,000 105,000
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= 7,579,000 7,229,000 350,000
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2 5,628,000 5,111,000 517,000
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o
=2 579,000 229,000 350,000
= 124,000 49,000 75,000
2 467,000 50,000 417,000
401 Al HI LR 1,170,000 328,000 842,000
=2 579,000 229,000 350,000
= 124,000 49,000 75,000
2 467,000 50,000 417,000
01 Al 1,170,000 328,000 842,000
©3]31215t 4+ 2 22 H ZHI ALY
23 1,170,000,0008 1,170,000 328,000 842,000
= 579,000 229,000 350,000
= 124,000 49,000 75,000
2 467,000 50,000 417,000
SlEol MR U 22| (2L H2EHE|) 39,000 0 39,000
= 39,000 0 39,000
401 Al HI 224 39,000 0 39,000
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802 Bter=0IEt 17,244 0 17,244
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